
qm=;+ of]hgfsf] gfd 7]ufgf nfut cg'dfg

1 rDkfb]jL ljBfno afn pBfg lgdf{0f blIf0fsfnL g=kf= j8f g+= ! 200000.00

2
rDkfb]jL ljBfnoaf6 Rofg u}/L x'Fb} rDkfb]jL kfp;Dd hfg] 
df]6/ af6f] dd{t

blIf0fsfnL g=kf= j8f g+= ! 200000.00

3 af];g u'Daf dd{t blIf0fsfnL g=kf= j8f g+= ! 200000.00

4 j8f g+= @ u''dhaf6 hf]uL rp/;Dd hfg] af6f] 8«]g lgdf{0f blIf0fsfnL g=kf= j8f g+= @ 200000.00

5
rfNgfv]n k|fylds :jf:Yo rf}sLdf cfsl:ds pkrf/sf] 
nfuL ;fdfu|L vl/b

blIf0fsfnL g=kf= j8f g+= @ 500000.00

6 rfNgfv]n lg=df=lj=Nofj ;fdfg vl/b blIf0fsfnL g=kf= j8f g+= @ 200000.00

7 dflyNnf] v/]af]6 af];g hfg] df]6/ af6f] lgdf{0f blIf0fsfnL g=kf= j8f g+= !, @ 100000.00

8 blIf0fsfnL g=kf= j8f g+= !, @ 400000.00

9 xflQjg ;fj{hlgs zf}rfno blIf0fsfnL g=kf= j8f g+= @ 400000.00

10 8fF8f ufpF blnt a:tL hf]8\g] df]6/ af6f] blIf0fsfnL g=kf= j8f g+= @ 200000.00

11 j8f g+= @ af6 rNtL x'Fb} j8f g+= # l6kn;Dd df]6/af6f] blIf0fsfnL g=kf= j8f g+= @ / # 400000.00

2600000.00

qm=;+ of]hgfsf] gfd 7]ufgf nfut cg'dfg

1 kfvfrf]s lqmof3/ lgdf{0f blIf0fsfnL g=kf= j8f g+= # 200000.00

2 j8f g+= # ;Qn b]lv dflyNnf] 6kn;Dd hfg] df]6/ af6f] blIf0fsfnL g=kf= j8f g+= # 400000.00

3 afn pBfg Ujfnbx, rfNgfv]n blIf0fsfnL g=kf= j8f g+= # 200000.00

4 rGb| Hof]tL kfj/xfp; kfs{ tf/af/ blIf0fsfnL g=kf= j8f g+= # 200000.00

5 x6\s]Zj/ dxfb]j dlGb/ 5t lgdf{0f blIf0fsfnL g=kf= j8f g+= # 125000.00

6 ;]tLb]jL ;fd'bflos :jf:Yo s]Gb| blIf0fsfnL g=kf= j8f g+= $ 100000.00

7 afx'g6f]nb]lv kfj/xfp;Dd hfg] df]6/af6f] 9nfg blIf0fsfnL g=kf= j8f g+= $ 400000.00

8 ;]tLb]jL 5/]kfvf] l;+rfO{ s'nf] lgdf{0f blIf0fsfnL g=kf= j8f g+= $ 200000.00

9 ;]tLb]jL u'7L lgdf{0f blIf0fsfnL g=kf= j8f g+= $ 50000.00

10 afF;af/L b]lv ;f]v]n kfj/xfp; kf]v/L hfg] df]6/af6f] u|fj]n blIf0fsfnL g=kf= j8f g+= $ 200000.00

11 eG~ofªaf6 b]jL dlGb/ x'Fb} rqmky lgdf{0f blIf0fsfnL g=kf= j8f g+= $ 200000.00

12 u0f]z hfqf ;+rfng eG~ofË, ;]tLb]jL blIf0fsfnL g=kf= j8f g+= % 100000.00
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13 o'jf hfu/0f ;dfh, ;]tLb]jL blIf0fsfnL g=kf= j8f g+= % 200000.00

14 blnt a:tL afF;af/L b]vL l7dn] ufpF hfg] df]6/af6f] lgdf{0f blIf0fsfnL g=kf= j8f g+= % 250000.00

15 ;]tLb]jL :jf:Yo rf}sL blIf0fsfnL g=kf= j8f g+= % 200000.00

3025000.00

qm=;+ of]hgfsf] gfd 7]ufgf nfut cg'dfg

1 z]ifgf/fo0f j[4f>d blIf0fsfnL g=kf= j8f g+= ^ 250000.00

2 kmlk{Ë v]ns'b ljsf; -gu/ :t/Lo_ blIf0fsfnL g=kf= j8f g+= ^ 500000.00

3 z]ifgf/fo0f o'jf Snj kmlg{r/ vl/b blIf0fsfnL g=kf= j8f g+= ^ 100000.00

4 kmlk{Ë a;kfs{ ;fj{hlgs zf}rfno lgdf{0f blIf0fsfnL g=kf= j8f g+= ^ 300000.00

5 dxf+sfn dlGb/ k|fª\u0fdf 9'Ëf 5kfO{ blIf0fsfnL g=kf= j8f g+= ^ 100000.00

6 k':tsfno hgg]q blIf0fsfnL g=kf= j8f g+= ^ 50000.00

7 lqe'jg lqms]6 :kf]6{; blIf0fsfnL g=kf= j8f g+= ^ 100000.00

8 dxf+sfnyfg af]vf axfn df]6/ af6f] blIf0fsfnL g=kf= j8f g+= ^ 100000.00

9 uf]naxfn 9'Ëf 5kfO{ blIf0fsfnL g=kf= j8f g+= ^ 100000.00

10 c?0ff]bo :s'nb]lv e"d]8f8fF df]6/ af6f] blIf0fsfnL g=kf= j8f g+= ^ 100000.00

11 8Nn' /s SnfO{dlaª a]; lgdf{0f blIf0fsfnL g=kf= j8f g+= & 50000.00

12 l;dvfg]kfgL of]hgf z]ifgf/fo0f blIf0fsfnL g=kf= j8f g+=  & 500000.00

13 c?0ff]bo p=df=lj= blIf0fsfnL g=kf= j8f g+= & 200000.00

14
kxndfg yf]s/sf] 3/b]vL Zofd axfb'/ s]=;L=sf] 3/;Ddsf] 
lkm8/ /f]8 dd{t

blIf0fsfnL g=kf= j8f g+= & 100000.00

15 c?0ff]bo :s'nb]lv jf0fb]jL s[lif df]6/af6f] blIf0fsfnL g=kf= j8f g+= & 100000.00

2650000.00

qm=;+ of]hgfsf] gfd 7]ufgf nfut cg'dfg

1 dgdf]xg ;fd'bflos c:ktfn blIf0fsfnL g=kf= j8f g+= * 100000.00

2
l;tf anfdLsf] 3/ cuf8L b]lv gofF a:tL drfun;Dd 
df]6/af6f] u|fj]n 

blIf0fsfnL g=kf= j8f g+= * 100000.00

3 blIf0fsfnL kmfs' s'nf] lgdf{0f blIf0fsfnL g=kf= j8f g+= * 250000.00

4 uf]kfn]Zj/ dlGb/af6 ;f]v]n hfg] df]6/af6f] u|fj]n blIf0fsfnL g=kf= j8f g+= * 100000.00

5
k'ln; rf}sL cuf8L lkr ;8sb]vL u0f]z dlGb/;Dd hf]8\g] 
af6f] 5kfO{ 

blIf0fsfnL g=kf= j8f g+= * 100000.00
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6 nIdL gf/fo0f dlGb/ k5f8L kf6L lgdf{0f blIf0fsfnL g=kf= j8f g+= * 100000.00

7 sf]5' 6f]n lkknaf]6 b]lv sSrf];Dd vfg]kfgL kfO{k lj:tf/ blIf0fsfnL g=kf= j8f g+= * 200000.00

8 sf]6fn 6f]n 9'Ëf 5kfO{ blIf0fsfnL g=kf= j8f g+= * 200000.00

9 uf]kfn]Zj/ dlGb/af6 6f/ hfg] df]6/ af6f] u|fj]n blIf0fsfnL g=kf= j8f g+= ( 150000.00

10 d?jf u'7L bfp/f /fVg] kf6L lgdf{0f blIf0fsfnL g=kf= j8f g+= ( 100000.00

11 ef]j' b]lv ef]Nsf dxfb]j ;Dd df]6/ af6f] blIf0fsfnL g=kf= j8f g+= ( 100000.00

12 af3 e}/j dlGb/ dd{t blIf0fsfnL g=kf= j8f g+= ( 100000.00

13 sf]O{nf a'F d'n s'nf] dd{t blIf0fsfnL g=kf= j8f g+= ( 50000.00

14 o"l6ls s[lif ;d'x -kDk / d]lzg vl/b_ blIf0fsfnL g=kf= j8f g+= ( 200000.00

15 blIf0f dgsfdgf ljsf; ;ldlt blIf0fsfnL g=kf= j8f g+= !) 150000.00

16 sflt{s gfr ;+/If0f blIf0fsfnL g=kf= j8f g+= !) 50000.00

17 blIf0fsfnL kf6L lgdf{0f blIf0fsfnL g=kf= j8f g+= !) 200000.00

18 blIf0fsfnL sdnkf]v/L kf6L lgdf{0f blIf0fsfnL g=kf= j8f g+= !) 200000.00

19 blIf0fsfnL :j/f]huf/ s[lif ;d"x, l6kL6f]n blIf0fsfnL g=kf= j8f g+= !) 50000.00

20 km'Nrf]s y}nL gfr ;+/If0f blIf0fsfnL g=kf= j8f g+= !) 50000.00

21 sdnkf]v/L vfg]kfgL lj:tf/ blIf0fsfnL g=kf= j8f g+= !) 200000.00

22
blIf0fsfnL vf]nf b]vL ;fgf] ufpF x'Fb} dgsfdgf hfg] df]6/ 
af6f] lgdf{0f tyf dd{t 

blIf0fsfnL g=kf= j8f g+= !) 100000.00

23 a]/f]huf/ o'jfsf] nfuL /f]huf/ d'ns tflnd, o'Fl6sL blIf0fsfnL g=kf= j8f g+= !) 50000.00

24 blIf0fsfnL g=kf= j8f g+= !) 100000.00

25 k~hn u0f]z kf]v/L lgdf{0f blIf0fsfnL g=kf= j8f g+= !) 100000.00

26
k+hn u0f]z kf]v/Ldf ;j{dfGo g]tf u0f]zdfg l;+xsf] zflns 
lgdf{0f Pj+ au}rf lgdf{0f 

blIf0fsfnL g=kf= j8f g+= !) 300000.00

27 dgsfdgf k|f=lj= jfn sDkfp08 lgdf{0f blIf0fsfnL g=kf= j8f g+= !) 100000.00

3400000.00

qm=;+ of]hgfsf] gfd 7]ufgf nfut cg'dfg

1 u0f]z dlGb/ jfn lgdf{0f tyf /]nLª /fVg], nfdfufpF blIf0fsfnL g=kf= j8f g+= !! 100000.00

2 86'jg df]6/af6f] lgdf{0f blIf0fsfnL g=kf= j8f g+= !! 200000.00

3 x'dfg] vfg]kfgL blIf0fsfnL g=kf= j8f g+= !! 300000.00
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4 uf]jw{g k;nb]lv tfdfª ufpF df]6/af6f], 6Ns' blIf0fsfnL g=kf= j8f g+= !! 200000.00

5 sflnb]jL ljBfno kmlg{r/ vl/b blIf0fsfnL g=kf= j8f g+= !! 100000.00

6 6Ns' j[xt vfg]kfgL of]hgf blIf0fsfnL g=kf= j8f g+= !!, !@ 500000.00

7 6Ns' 8fF8Lv]n sRrL df]6/af6f] dd{t tyf :t/pGgtL blIf0fsfnL g=kf= j8f g+= !!, !@ 300000.00

8 rDkfb]jL ko{6sLo df]6/ af6f] blIf0fsfnL g=kf= j8f g+= !@ 400000.00

9 9]ljaf6 efhª\un 6Ns' hfg] df]6/ af6f] blIf0fsfnL g=kf= j8f g+= !@ 200000.00

10 ;]tLb]jL df=lj= kmlg{r/ vl/b blIf0fsfnL g=kf= j8f g+= !@ 100000.00

11 O{Gb|fo0fL lg=df=lj= kmlg{r/ vl/b blIf0fsfnL g=kf= j8f g+= !@ 100000.00

12 a]df};dL t/sf/L v]tL, cf]/]G6 s[lif ;d'x blIf0fsfnL g=kf= j8f g+= !@ 200000.00

2700000.00

qm=;+ of]hgfsf] gfd 7]ufgf nfut cg'dfg

1 tfdfª u'Daf, 5}dn] blIf0fsfnL g=kf= j8f g+= !# 100000.00

2 nfdf6f]n x'Fb} jfO{jf6f]n ;Dd 9'Ëf 5fKg], 5}dn] blIf0fsfnL g=kf= j8f g+= !# 100000.00

3 blIf0fsfnL g=kf= j8f g+= !# 200000.00

4 emDs]Zj/L l;DkfgL df]6/af6f] u|fj]n blIf0fsfnL g=kf= j8f g+= !# 100000.00

5 lxn] vfg]kfgL, 5}dn] blIf0fsfnL g=kf= j8f g+= !# 200000.00

6 £ofDkfb]jL xfFl;6f]n rf}sf]6b]jL df]6/af6f] blIf0fsfnL g=kf= j8f g+= !# 500000.00

7 km'Fofn 6f]n x'Fb} 3f6 hfg] df]6/af6f] blIf0fsfnL g=kf= j8f g+= !# 50000.00

8 3f]n]{vf]nf sfnLdf6L8f]n dxfb]j:yfg df]6/af6f] blIf0fsfnL g=kf= j8f g+= !#, !$ 50000.00

9 >Ls[i0f df=lj= ejg dd{t blIf0fsfnL g=kf= j8f g+= !$ 500000.00

10 lzj zlQm k|f=lj= sDKo"6/ v/Lb blIf0fsfnL g=kf= j8f g+= !$ 50000.00

11 blIf0fsfnL g=kf= j8f g+= !$ 100000.00

12 5}dn] rf]a' l9s'/] kf6L lgdf{0f blIf0fsfnL g=kf= j8f g+= !$ 75000.00

13 d'n ;8sx'Fb} pv'af/L e6\/fO{6f]n df]6/af6f] blIf0fsfnL g=kf= j8f g+= !$ 150000.00

14 zxLb kfs{ lgdf{0f, 5}dn] blIf0fsfnL g=kf= j8f g+= !$ 1200000.00

15 nfs'/L eG~ofË atf;]6f]n df]6/af6f], 5}dn] blIf0fsfnL g=kf= j8f g+= !% 150000.00

16 5}dn] j8f g+= !% j[xt vfg]kfgL blIf0fsfnL g=kf= j8f g+= !% 300000.00

17 kGrsGof df=lj= afn sDkfp08 blIf0fsfnL g=kf= j8f g+= !% 200000.00

18 GofpnL afhf ;+/If0f ldg axfb'/ 6f]nL, s]/faf/L blIf0fsfnL g=kf= j8f g+= !% 100000.00

19 5}dn] :jf:Yo rf}sL ejgdf Knf:6/ ug]{ blIf0fsfnL g=kf= j8f g+= !% 100000.00

20 zf}rfno lgdf{0f, 5}dn] k|x/L rf}sL blIf0fsfnL g=kf= j8f g+= !% 150000.00
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4375000.00

qm=;+ of]hgfsf] gfd 7]ufgf nfut cg'dfg

1 l;h{gzLn o'jf Snj kmlg{r/ vl/b blIf0fsfnL g=kf= j8f g+= ! b]lv !% 200000.00

2 wfld{s tyf ;f+:s[lts ;+/If0f ;ldlt blIf0fsfnL g=kf= j8f g+= ! b]lv !% 50000.00

3 Ifdtf ljsf;sf] nfuL pb\3f]if0f tflnd blIf0fsfnL g=kf= j8f g+= ! b]lv !% 300000.00

4 blIf0fsfnL z]ifgf/fo0f 9'Ëf 5kfO{ dd{t ;+ef/ blIf0fsfnL g=kf= j8f g+= ^, *, !) 300000.00

5 blIf0fsfnL 9]jL vfg]kfgL kfO{k nfO{g lj:tf/ blIf0fsfnL g=kf= j8f g+= ^, ( / !@ 200000.00

6 xl/z+s/ hfqf, g]kfn ;+jt\ Nxf];f/ ;f]gfd blIf0fsfnL g=kf= j8f g+= ^, &, *, (, !) 200000.00

1250000.00

qm=;+ j8f g+= dfu ul/Psf] ah]6

1 ! / @ 2600000.00

2 #, $ / % 3025000.00

3 ^ / & 2650000.00

4 *, ( / !) 3400000.00

5 !! / !@ 2700000.00

6 !#, !$ / !% 4375000.00

7 ! b]lv !% ;Ddsf ;+o'Qm  of]hgfx?sf 1250000.00

20000000.00
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